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37968 | AEBENTAKHZ HAIAZ IAKQBOZ 997993 Oxi |[Oxi| B 0 0 0 1 0 0 441 0 0 0 30 0 0 | 0,00 308 Ox1 | B [Oxi 338,00| 5
38606 [INA=AKHZ AHMHTPIOZ IQANNHZ B909744 Oxi [Ox1| B 0 0 4 0 0 0 48| 0 0 | 200 0 0 0 | 0,00 336 Ox1 | B [Oxi 536,00 3
39441 | NAMAAHMHTPIOY AGANAZIOX AHMHTPIOXZ |T488159 Oxi |[Oxi| B 0 4 0 4 0 0 63| 0 (200] O 10| O 0 | 0,00 420 Ox1 | B [Oxi 730,00 2
37858 [MPAZIANAKHZ NIKOAAOZ EMMANOYHA |Al464543 Oxi |[Oxi| B 0 0 0 0 0 0 60| O 0 0 0 0 0 | 0,00 420 Ox1 | B |Oxi 420,00 4
37809 |ZIAEPHX AGANAZIOX OEOAQPOX |NA218923 Oxi |Oxi| B 9 0 9 2 0 0 58| 575 | 0 | 450 | 60 0 0 | 0,00 406 Ox1 | B [Oxi 1.491,00| 1
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1. KAAOTEPIAOY AIKATEPINH
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